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●  NP Problem & Reduction  (Today)

●  Examples, Reduction in Karp -- Wednesday

●  Lab, Assignment 4 -- Friday

Plan of the week
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A: Validity of certificate EASY to check!
     (can be done in polynomial-time)
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NP-Problems
(Non-deterministic Polynomial-time)
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 A: It is generally believed that:
      “Hard” problems have NO efficient algorithms
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If N could be solved,
a known hard problem H
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Reduction
from H to N

Reduction and Justifications of Correctness

Algorithm for N
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Call this part “instance construction” from now on
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